10 9 8 7 6 5 4 3 2 1
WIRING CONFIGURATION
18+0.1 24.3:0.3 28
] Brown O 1
(7 1 Screw and gasket, (] i ) Blue © 2
: see sheet 2, PN Key |
S ' ‘ Not used o———< =+
S ——{f‘— === il =) -
< i \ 13 Not used O——< L+ or 3
| ‘ Insert Orientation
1] Face View ! Earth PIN HE/H12 3 Earth PIN H3/H9 9\5®"
| See Insert Orienttion * ETDTIXXXXXXIX (= || |ETDIXXXXXXEX NS
— | EART PIN Not Used EART FIN Not Used
e U
/_I T
N
E Earth PIN H12 5] Earth PIN H3 @\EGD“
A0 | E15IXXXXXX2X [H2Yf |[E151xxXxxx3X [[Fe]
ﬁ EART PIN Not Used EART PIN Not Used
T N | PIN 3 Not Used PIN 3 Not Used
G h ®
E Table of lenght tolerances [mm]
)
f \ _ O;IEF U1|:0(:g and including 'I*'zol)erunce (+) Eorth P|N H6 ? Eorth P|N Hg "®33]
100013000 30 E1DIXXXXXXBX Eé E1DIXXXXXXOX |
+.
5000 0000 50 EART PIN Not Used EART PIN Not Used
10000 | 15000 +100
) s PIN 3 Not Used PIN 3 Not Used
— 20000 + /100
g % § QUALITY GENERAL TOLERANCES DIMENSION STYLE SCALE DESIGN UNITS ’:‘RST ANGLE
W S25| |sympoLs| (UNLESS SPECIFIED) MM ONLY - METRIC |1 © pRaIECTION
w0 S g g mm ‘N[H DRAWN BY DATE TITLE
<MSSSZ -0 [TFAGESE - [£-—  UMARSZALEK  2012/12/19 E15IXXXXX XXX
ws &
d T < § % S 3 PLACES £ — T CHECKED BY DATE DIN FORM A
B2 =S TEN\/=0 [2PLACES|E—— [+ SZWAJKOWSKI 2012/12/19 EN 175301-803
~ 5 :( AW 1PLACE + - +——- APPROVED BY DATE
=4 -E 0 PLACE JZ—— 2 MIWASIECZKO 2013/01/16 mQIQx
% % 255 ANGULAR +——o MATERIAL NO. DOCUMENT NO. SHEET NO.
ToExna DRAFT WHERE APPLICABLE|MATRIX DRAWING SD-121040-007 1 OF 3
Qoo MUST REMAIN SIZE | THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
A © WITHIN DIMENSIONS /\ S|INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
ib_frame_A3_P_ME_F 5 5 7 6 5 | 4 | 3 | 2 | 1

Rev E1 2012/01/25



— EARTH PIN LOCATION (SEE INSERT ORIENTATION TABLE):

10 9 8 7 6 5 4 3 2 1

E - Paocking without bags
W - Single packing
0 - Quick packing

NUMBER OF WIRES:
1=2 WIRES

2=2 WIRES + EARTH
3=3 WIRES + EARTH

CABLE TYPE
SEE TABLE 1

CABLE CROSS SECTION AREA
SEE TABLE 2

HEAD COLOUR:
B=CREY:
N=BLACK;
T=TRANSPARENT;
A=CSA-UL BLACK;
B=CSA-UL CREY.

CABLE LENGHT IN CM
Eg.:050=50 CM, 300=300 CM, 10K=1000 CM.

T-DOUBLE EARTH ON 6H AND 12H,

2=EARTH ON 12H,

B=EARTH ON BH.

4=DOUBLE EARTH ON 3H AND GH,

3=EARTH ON 3H,

9=EARTH ON GH.

TYPE OF GASKET AND SCREW:

7-NBR PROFILE GASKET+ IXING SCREWS (M3x25 mm.
2=NBR FLAT GASKET+SCREW (M3x25 mm).
3-SILICONE PROFILE GASKET+SCREW (M3x25 mm).
4=SILICON FLAT GASKET+SCREW (M3x25 mm).
P-INTEGRATED GASKET+FIXING SCREW+GROMMET (M3x27 mm).

| R=INTAGRATED GASKET+SCREW+GROMMET (M3x27 rmm).

T=PROFILE GASKET+SCREW+GROMMET (M3x27 mm).

Rev E1 2012/01/25

= % = QUALITY GENERAL TOLERANCES DIMENSION STYLE SCALE DESIGN UNITS ’:‘RST ANGLE
w S=35| |syMeoLs| (UNLESS SPECIFIED) MM ONLY - METRC |J© PROJECTION
w0 S g g _— mm H\/[H DRAWN BY DATE TITLE
SHSSS|5|W-0 [TrAs T [T PMARSZALEK  2012/12/19 ETSIXXXXXXXX
Do r2=k 3 PLACES|[t-——— |+——-  [CECKED Y DATE DIN FORM A
EE 2253 \/=0 [2ZPLACES[E=——- [+-—  MSZWAJKOWSKI 2012/12/19 EN 175301-803

o~ % — oH| W 1 PLACE [£--- +-—— APPROVED BY DATE

2T O PLACE [ [E=—=MIWASIECZKO 2013/01/16 er
é % % é g ANGULAR £-—-° MATERIAL NO. DOCUMENT NO. SHEET NO.
oETa DRAFT WHERE APPLICABLE|MATRIX DRAWING SD-121040-007 2 OF 3
Qoo MUST REMAIN SIZE | THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX

A g WITHIN DIMENSIONS /A 3/INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION

tb_frame_A3_P_ME_F 9 8 7 6 5 | 4 | 3 | 2 | 1



10 9 8 7 6 5 4 3 2 1
TABLE 2 - CABLES TABLE 2 - CABLES
11 Cade Wi C DINA-BIDING Melex PN |mPm |Cede|Wires |Cross Section Material Coler Diameter @ [DIN A-B[DIN C
1210180080] | o] 3 1 mm2 P . | Grey RALTO35] 8,4+/-0,2 mm OK. - 1210180071 P 3 3 PUR - BLEND Black 8,5+/-0,2 mm OK.
F| 210180867 & | 2 | 2 20AWG Black 55+-02mm | OK. | OK. 12101801 F |l 3l 4 OK.
LAl 213 0 AWG OK. | oK : EEREE g
Ajz | 4 20 AW OK. | OK. 1210180084] T | 5 | 3 854702 OK. -
At 21 5 0AWG TK. - 1210180309] Y | 3 | 3 SIL/0300 6. OK. B
B 1 2| 2 20AWG OK. | OK. 72101806810 F | 4 | 3 CNOMO Grey RAL7000 |7 oK. -
B2 3 20 AWG OK. | OK. - Fl a1l 2 7, oK.
— B 2] 3 0ANG 0K | OK. 12 i | 41 2 7,1+0, OK.
- g1 21 5 0AWG oK. - 12 | 4] = 7,1+40,2-0mm| OK.
1210780122] D | 2 | 3 8,5 mm2 oK. 2 N | 41 2 6,5+0,2-0mm| OK.
R = 2 3 05 oK. 12 N 4 3 8,94+0.2/-0mm| OK,
T20180047] 1 1 2 | 2 : PVC CEl K. 121 R | 4| 3 CK. -
E| (i2i0i80284] 1 1 2 | 3 05mm2z | PVC CE OK 12 N |51 3 QK.
12101807460 1 | 2 | 4 05mm2 |PVCCE CK. 12 I | 6| 2 ) TK. B
1210180777] 1 | 2 | % 0Emm2 |PVC GEI20221 ALTC OK. - - Al 71 3 66 OK. | OK.
1270180022] N | 2 | 2 0,5 mm2 PVCHO3 Black OK. | OK. 1210180149] | | 9 | 4 2110.R. | Grey RAL7035 OK. -
1210180084] N | 2 | 3 0,5 mm2 PYCHO3 Black OK. | OK.
| [Az7ote0153] N | 2 | 4 0.5 mmz PVCHO3 Biack OK. | OK.
1210180046] P | 2 | 2 0,5 mm2 PUR - BLEND Black OK. | OK.
1200002430) P | 2 | 3 0.5 mm2 BUR-BLEND Black 5 0K | OK.
1210780302] P | 2 | 4 0,6 mm2 PUR - BLEND Black 5+/-0, OK. | OK.
1200002215] P | 2 | & 0.6 mm2 BUR - BLEND Black 7+0,370,1 mm| OK. | OK.
p | [f2iomsoece; A {3 13 TBAWG | PVC CSA/UL 2661 Biack 3 ; OK. -
20180728 & 1 2 | 3 TEAWG | PVC CRATIL 2661 Black oK -
1210180759 A | 3 | 4 T8AWG | PVC CSA/UL 2661 OK. - TABLE 1 - CABLES TYPE
1270180464 A | 3 | & TEAWG | PVC CSA/UL 2661 7,8+70,26 mm | OK. - ove | cone 1 o .
1270180351| B | 3 | 2 T8 AWG | PUR CSA/UL 20668 Black 6,5¢/-0,2mm | OK. - 0de | tobie ypes eniures randing
T2018027] B 1 2 | 3 TEAWG | PUR CSA/UL 20668 Elack 55+ 02mm | OK - 05 7 . X 030
—| [1210180760] B | 5 | 4 | T8AWG | PUR CSA/UL 20668 Black 7H02mm | OK | - N PVC ADD“TCC”‘O” EE”ET‘ pLrnose Tb‘e Wh‘ci has %OOU 075 mm2 = 21 % 0.20
1270180463| B | 3 | 5 T8 AWG | PUR CSA/UL 20668 Black 78+-02mm | OK. | - resistance 1o water, bul usually poor of resistance. 1 om2 - 28 x 0.20
1210780073] D | 3 | 5 | 6.75mm2 | PYC T2 CE120.20 Grey 85+-02mm | OK. | OK. : S 7 - 95 x O
1270180745] D | 3 | & | 0.75mm2 | PVC T2 CEI 20-20 Grey 7av-02mm | Ok | - CEl igﬁrgi‘ig?sﬁg;iﬁ; ;E‘;;g::‘f;‘]m”‘;e‘igf e 075 mm2 = 42 X 045
1202008206| 1 | 3 | 2 | O,/amm2 |PVC CEI2022 NOR. | Grey RAL7001| 5,5+/-0.2 mm | OK. - 1 mm2 - 32 % 0.20
C 1210180720] 1 | & | 3 | 0.75mm2 |PVC CEI2022 1OR. | Grey RALT035| e+/-02mm | OK, - ] iy Offer gond resistance 1o ol and chemicals. Can swel 05 w7 - 78 x 0.5
1210180743 1 | 3 | 4 | 0,75mm2 |PVC CEI2022 1OR. | Grey RAL7035| 7+/-02mm | OK. - when constantly immersed in waer. 0.75 mm2 - 42 x 05
1210180022| N | 3 | 2 | 0,75 mm2 PVCHO5 Black 6,2+-02mm | OK. - 1 mm2 - 32 % 020
1210180069 N 3 3 0,75 mm2 PYCHO5 Black 8.5+/-0,2 mm OK. - Approved to CSA-UL 26671, application general purpose cable 20 AWG = 32 x 015
1210180144 N 3 4 0,75 mm2 PVCHO5 Black 7,1+/-0,2 mm OK. - A PVC CSA-UL | which has good resistance to water, but usually poor ol resistance. 18 AWG = 52 x 0.15
— | [1270180774] N | 3 | 5 | 0.7/5mm2 PVCHO5 Black 8,040,220 mm | OK. - 20 AWG - 32 x 015
507004780 3 3 0.75 mm?2 SUR-BLEND STack .5+.02 mm oK - B PUR CSA-UL | Approved to CSA-UL 20668, very good resistance to oil and chemicals, B AWG < 52 x 015
B
g% § QUALITY GENERAL TOLERANCES DIMENSION STYLE SCALE DESIGN UNITS ’:‘RST ANGLE
L =2 | N UNLESs SPECHED MM ONLY - METRIC |1 © BR3ECTI0N
— | w0 P NS _— mm ‘NCH DRAWN BY DATE TITLE
SR RES(5|W-0 [ZPLACES|Z-—- [E-—  MARSZALEK  2012/12/19 E15IXXXXXXXX
a5 5 8|F FEp— Fp— CHECKED BY DATE DIN FORM A
Do x 22t 3 PLACES|E +
EE 2253 \/=0 [2ZPLACES[E=——- [+-—  MSZWAJKOWSKI 2012/12/19 EN 175301-803
N H < | W 1 PLACE + - +-—— APPROVED BY DATE
JU & =<|0
A ITESE 0 PLACE [E——— [2——  MIWASIECZKO 2013/01/16 MOoiéXx
Z 5 0== ANGULAR +——o MATERIAL NO. DOCUMENT NO. SHEET NO.
u==z90x =
ToET o DRAFT WHERE APPLICABLE|MATRIX DRAWING SD-121040-007 3 OF 3
Qoo MUST REMAIN SIZE | THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
A © WITHIN DIMENSIONS /\ S|INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
ib_frame_A3_P_ME_F 5 5 7 6 5 | 4 | 3 | 2 | 1

Rev E1 2012/01/25




